2-1
75 ~100
2-1
2-1
kW HP KW HP kW HP
0.4 1/2 22 30 200 270
(0.55)| 3/4 30 40 (220) 300
0.75 1 37 50 250 350
(1.1) 1.5 45 60 280 375
1.5 2 55 75
2.2 3 75 100
3.7 5 90 125
5.5 7.5 110 150
7.5 10 132 175
11 15 (150) 200
15 20 160 220
18.5 25 (185) 250
1.0 )
2-2
JIS C 4004
2-3
(1)
5~15
(2)



(JIS C 4004-1980)
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60 T owm
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N:
R:
1 3AM (N R [
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A ) S3 25 ]
N
AQEM = X100 (%)
S3~38 N+R
D:
1
N:
10 R:
S4 (N R
) [ :S4 25% H2 FI3]
15,20, 40 e D+N
50 =————x100(%)
D+ N+R
D N R (S4)
1 As F:
R
DNF R
S5 &
D+N+F [ :S5 25% H2 FI3]
bﬁm =—x100 (%)
D+N+F+R
N:
1 E Vs
" NV (N, V
S6 &
) [ :5S6 40%]
T
= x100 (%)
N+V
S3~58 D:
I m N:
ST o r
e F: [ :S7 Hl FI6]
510}
=100 (%)
D:
N1, N2, N3: S8
S8 . H 0.65 FI2 24KW
A 740rpm 15%
Fl,F2: H 1.0 FI2 60KW
1460rpm 25%
H 0.60 FI2 45KwW
980rpm 60%




(1. H
sz
H= 10
2Sn
J; (kg.m?)
J=GD?/4
GD?: (kg.m?)
wn (rad/s
211
@on=—-ng,
60
Np: (rpm)
Syt (KVA)

JIS C 4004-1980
JEC-37-1979......

Jm+J1
(S) I=
Jm
Jdm:
Jl:
...... 10, 30, 60, 90
5, 10, 15, 30, o0, 90, 120

2-1 )
i
P
(P12+P1-P2+P22)tl 2 (P42+P4-P5+P52)t3
+P3 ty+
pP= 3 S (2-1)
a tyt+ty+a t3+b ty
2-1
a b
1 2-3
P, Ps... I, I
2-3
a b
0.6 0.3
0.7 0.4
1.0 1.0
(4)
(cycle)
ED ED



$ED = x100= X100+ (2=2) ty tz t ts
+ ti+te2
2-2
(JIS C 4004) ED 15 25 40 60
( ti+t,) 10
1
a)
Wst
Wst:GD2.NS2(1—S2)X(1+%)X Tu () -3
730 Tu— TL
GD” GD? (kgm®)
Ng (rpm)
S (Slip)
I (Q)
r’, (Q)
Ty (%)
Tp (%)
(S 0,rl/r2 1)
b)
Wr
Wr=Pr(—-1) (W)erermemen (2-4)
n
Py (W)
n Pr
n Pr ( )
C)
(1)
3GD2N§ r1 TM
Wbri = X(1L+—)x (W-S)veeenens (2-5)
730 'z Tu+TL



GD
Wbhr2 = (1+ ——)X————(W-S)revveve-- (2—6)
730 r'z T+ T1
N : (rpm)
P
Py:
Tg: (%)
d)
2-3 t1(S) t, (S)
Wst+Wr: ti1+ Wbr1
Wmean=——————(W):+---+-- (2—-17)
ti+b-t2
100 W, 100
(2-17) Wmean W.100 100
(2-4)
%
4 4
I z
%
" ¥
# # 2
; 7
B // b
t 1z t
BN (§) e
2-3 (Duty)
2-4
(1) Pump (2) Fan, Blower
P=(1.1~1.2) (KW )eemeenees (2—-18) P=——— (KW)eeeeennss (2-9)
6.12xn 6120xn
Q (m*/min) Q: (m®/min)
H (m) H: (mmAqg)
n pump ) n: ( )
M) «
n K
Propeller Fan 0.5~0.75 1.3
Desk Fan 0.3~0.5 1.5
Sirocco Fan 0.45~0.55(1.20~1.30




Turbo Fan 500HP 0.65~0.75/1.15~1.25
Turbo Fan 500HP 0.6~0.7 |1.15~1.25
Plate Fan 0.5~0.6 |1.15~1.25
Turbo Blower 1 0.6~0.75(1.10~1.20
Turbo Blower 0.55~0.7 |1.10~1.20
(3) Compressor
p=5.8300% %55 _1)x 2 (ki) (2-10)
n
P: (kgf/cm?) 0.5~0.8
Q: (m3/min) ( ) 0.7~0.85
n : ( ) 0.7~0.9
( 7kg/cm® )
(4) Crane
a. b.
LN A P, o Kemawy v o12)
6.12xn 6.12xnx1000
W ( + ) (ton) W (ton)
v (m/min) Wl: Trolley crane (ton)
n ( 1 0.95 v (m/min)
~0.85 2 0.9~0.7 1 (
0.5) 7kg/ton 12kg/ton
n: ( )
(5) (6)
:(W—kWt—kWr)%sina%—ucosa%2ﬂﬂR(kw) ......... (2-13) b K-V-W F(kW) ......... (2-14)
6120%n 6120x 1
W: (kg)w V: (m/min)
Wt (kg) W: (kg)
Wr (kg) F: (0.5~0.6)
R (m) K:
n (rpm) (1.3~1.5)
a n: ( 0.45~0.55,
Mo (0.015~0.03) 0.75~0.8)
n: ( )
[ ] (Balance Weight)
1.2ton 3ton 20m (n
=0.8)
a) Py
Pl:(34—l.2)x30 25 THW
6.12x0.8
b) a 2ton P,



P2 = A3+1.2)-2}x30 13.5kW

6.12x0.8

c) b 2ton

{3+1.2)/2-2}x30
6.12x0.8

0.6kwW

P3=

B a @ b
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